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Subject :-English

Lesson . - “on the verge of animals in extinction”

A). Read the 1% paragraph on “Polar Bears” on page 44 of your textbook. Then write five verbs.

B). Use the same verbs to write 5 sentences describing an endangered animal you know.

C). Read the whole text again and find 10 adjectives noun.

Eg: - global+ warming

D). Do the activity 7 (WB) page 32. Use the facts on the next page.

E). Fill the table below by reading the text “on the verge of animals in extinction”.

Name of animals Where it lives Why it is endangered

F). Make a small booklet on animals in extinction. Download the pictures from internet.
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Subject : Maths

Lesson : Percentages
Calculating interest on the reducing balance.

Example:-

A television priced at Rs. 76 000 for outright purchase
can be bought by making a down payment of Rs. 16
000 and paying the rest in 12 equal monthly
instalment of Rs.5260. if the interest on the loan is
calculated of the reducing loan balance, find the
annual interest rate.

The amount paid according to the instalment

=Rs. 5260 x 12
=Rs. 63 120

Balance to be paid in instalment= Rs . 76 000 — 16
000

= Rs. 60 000

= Rs. 63 120 - 60 000

=Rs. 3120
The number of month units loan is paid over=
Z(12+1)

Total interest paid

Interest the monthly units

Portion of the loan paid according to the on month

60 000
= Rs.
12

=Rs. 5000
The annual interest rate =% X 12 X 100%

=9.6%

Do exercise 9.1- 5,6 and 7

Exercise:-

A sinning table priced at Rs. 56 800 for outright
purchase can be bought by making a down payment
of Rs. 10 000 and paying the rest in 18 equal monthly
instalment of Rs.3094 . if the interest on the loan is
calculated of the reducing loan balance, find the
annual interest rate.

The amount paid according to the instalment
=Rs. ......... X 18
=RS. i
Balance to be paid in instalment = Rs.56 800 —...........

=RS. e,

=2 (e #1)

=Rs. .coveees
Portion of the loan paid according to the on month

= Rg, o

= O eeeeeneene

The annual interest rate =—— X 12 X 100%
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